Multiply by Positive Powers of Ten (I)

79 x 10 =

55 % 10% =

8 x 101 =

8 x10' =

36 X 10% =

58 x 103 =

54 x 10% =

14 x 10 =

49 x 10°

53 x 103

Find each product.

48 X 10% =

68 x 10 =

63 x 10% =

91 x 10! =

19 x 10% =

2 %X 10% =

40 x 10% =

9% 10%=

2x10'=

90 x 10° =
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Multiply by Positive Powers of Ten (I) Answers

79 x 10* =790

55 X 10% = 5,500

8 x 10" =80

8 x 10 =80

36 X 10% = 3,600

58 x 10° = 58,000

54 x 10* = 5,400

14 x 10* = 1,400

49 x 10° = 49,000

53 x 10° =53,000

Find each product.

48 x 10 = 4,800

68 x 10* = 680

63 x 10° = 63,000

91 x 10* =910

19 x 10 =1,900

2 x10%=200

40 x 10% = 4,000

9 x 10> =900

2x10'=20

90 x 10° =90,000
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